OWENS 99-—CURRENT FORD SUPER DUTY SUPER CAB

INSIAUANONY  QIY, RESCRIPTION oIy, IXSCIPTIRY
PARLS _LISY: |  RUNNNG BOARD | DRMVER & 1 PASSENGER 2 HORIZONTAL BRACKET, SUPPORT, 3124F
1 STONE GUARD 2 LEFT & 2 RIGHT 2 5/18" CuP NUT
8 3/87x1 SELF TAPPING SCREW 20 5/16"x 3/4" BOLY
8  f14x3/4" TEX SCREW 18 5/16~18 HEX NUT
8 1/4xS/8" SQUARE HEAD SCREW 4 FLAT BRACKET, FLII
8 1/4-20 WEX MUT 1__END CAP 1 LEFT & 1 RCHT

| I00tS EEN@RFD. 5/16° ORRL * 1/2° HEX SOOKET * 1/2° WRENCH ° $/18° WUT ORWER ° 3/8° st ORVER |

BRACKEY ASSEMALY MOUNT T0 BOOY 048°
@ ASSEMALE WITH 5/16° BOLTS AND
WUT CUP AND S/18° BOLT

MOUNT TO BOOY 069"
ASSEMBLE WITH 3/18° BOLTS AND
f14 SELF DRILLING SCREW

B0DY

FRAME

N

uounnwunousm-un@

BEND STONE GUARD 8Y HAND AND
KNEE TO FiT THE WHEEL WELL
BEFORE INSTALLING TO RUNNING BOARQ

!
1
4
]
]

o R ||

INSTALL END CAP 10 BOARD
WITH 3/8° SELF TAPPING BOLI

1',%‘9

P

'é
A

| B |
SUDE TWO_ 1/4°x3/8"
SOUARE HEAD SCREW
INTO EACH TRACK.

lét' BOLTS ARE PLACED
STEP SUPPORT

3 PLACES AT EACH STONE GUARD

REPEAT FOR OTHER SIOE

Choose reliable running boards offered on our website.


https://www.carid.com/owens/
https://www.carid.com/running-boards.html

